LD dentify transformations from the equation

[A]f(x):7+%(x+1)2 ~10 [B] f(x):éH

Standard formiA (¢ ) = 5{ (x +/)2~3 standard form: & ()= 2 ( 71—_3—;)+ [
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On your whiteboard... Check all that apply and fill-in blanks

AL () =3+ (1+2) Ller)=3 Bl f(x)=2/~(—3)-4
Type:_ (QUadcahic. Type: S@We HocT~

vertical translation up ___ units vertical translation up ___ units

\/ertical translation down Q units V{ertical translation down fl units
horizontal translation right  units \/ﬁorizontal translation right 3 units

‘/h/orizontal translation left [ units horizontal translation left  units
reflection in the  axis feflection in the J?(axis

\/ﬁlation of l‘ﬁ, vertical 5br:'/_)k V(ilation of A_; vertical S/ﬂ’lcé
dilation of ___; horizontal dilation of ; horizontal

On your whiteboard... Check all that apply and fill-in blanks

f(x):Z—\/x+l+7= =X+ +742 =

Ty Square KesT
\/(ertical translation up i units

vertical translation down units

horizontal translation right  units
\Aorizontal translation left L units
\A:ﬂection in the 1 axis

dilation of  ; vertical

dilation of ___; horizontal




m Write the equation for the graph.
[Al | B] ————

) nn 1 2 3| 4 5 e : 1‘71 .
. 0,-1)
a2/ . %
. ??i‘\ , ) /Av""‘
3 ' (5_) I 7\-
x 2 S ( )é'j left !
&i I

-5 \ I 2,-5)

-

| 3
Type of function#stion X Type of function: Cwloe Rosst I
Rigid: SN _!"J( Rigid: down >
g left |
Non-rigid: pne_ Non-rigid: dilation 2

Equation:@‘(i): 7_('?:'_;_._ \}J Equation: ()Q= 3\3}—7(7\—_3

On your whiteboard... Write the equation for the graph.

|2

e k! (
="




as no non-rigid transformations.
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be careful mixing y-axis reflections with horizontal shlfts
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On your whiteboard... Write the equation from the description




On your whiteboard... Write the equation from the description

A function with a range of (-~,2] with that has an x-coordinate of 3.
It graphs a@th g@hat has been vertically stretched by a factor of 5.
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X Sketch a graph using transformations

Use transformations to sketch 3/ (x+ 2) —1 "Mustfollow the order of operations

(mult/div before add/sub)
1
1: ()\é7 hed el
,,,c_) . \)9\
a-f(b(x—h))+k
r\\ Three Multiply Divide x- Add Add
SHEIRIE IR DR R B I il el v it
(2.-2)

(2/-3) ) |1, 0) |— (-3 L) |3, 5)
&\ €2-3) 1(2,-9) | ——>|(=4,-7) |4 -1p)
_El..(o.-1 (3,-2) [(2,-6) | —= [(n,=6) [(» -])
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Try this one on your own...

Use transformations to sketch _ f 1 x|+ S
S

/!

4.7) Z h=0
\//' T b af(bGr—h) +k

r\-1,2)

(-4.'8)

) -8 - -4 0 2 4 g g8 10 Three Multiply Divide x- Add Add
anchor -value value b h= to k= to
(_2 _3)j_j \(2’-2) points b‘l';az“_/ b= a{ the_x%lue the%lue
! Gl (-] 22 — 7 [ (-2,
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On your whiteboard...

[A] If (3,7) is a point on the graph of f(x),
what point is on the graph of 21 (x — 3) +57?

d:‘dk’- ri
(37) 4255 7Y (3, I‘I)—-ﬁ»(é,ﬂ) il 0L

[B] If (=2, —1) is a point on the graph of f(x),

what point is on the graph of —f(x +2) — 47
2271) ;Ef'ﬁﬁﬂ&, (-2, Jet 2 (-41) me Y (g -3)

[C] If (6, 4) is a point on the graph of f(x).
what point is on the graph of = : f (=x)+37?

(L 1)2‘.:}12—{3—5 (, —.z)rrg«fg %ﬂa,'a)ﬁf
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